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QUESTION 1

What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service?
A. Batch Analytics Processors

B. Natural Analytics Processors

C. Static Analytics Processors

D. Streaming Analytics Processors

Correct Answer: AD

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding-analytics-processors.html

QUESTION 2

You provision an Oracle SOA Cloud Service instance and specify a compute shape so that the JVM heap size for
WebLogic Server and Load Balancer processes are determined automatically.

Which statement is correct after provisioning the instance in this scenario?

A. You can change the heap size to a maximum of 32GB.

B. You can change the heap size by logging an Oracle Cloud Support Service Request.
C. You can change the heap size by using the Weblogic Server Administration Console.
D. You cannot change the heap size once the Service Instance is provisioned.

Correct Answer: C

Reference: https://docs.oracle.com/cloud-machine/latest/soacs_gs/CSBCS/GUID-
FC8FB9F1-99D4-434E8825-3D368850A37A.htm#CSBCS-GUID-FC8FB9F1-99D4-434E-8825-3D368850A37A

QUESTION 3

Which expression can you use to schedule integration runs?
A. a XPATH

B. aniCal

C. a JavaScript

D.a XSLT

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-
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scheduledintegrations.html#GUID-622B74FE-D9EC-4A62-8DF1-1E96912C8FB8

QUESTION 4

Which three are types of certificates that can be imported from Settings?
A. Identity Certificate

B. Multi Domain SSL Certificate

C. Trust Certificate

D. Message Protection Certificate

E. Unified Communications Certificate

Correct Answer: ACD

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/managing-
securitycertificates.html#GUID-9F6A7704-A8DE-484E-8D8A-06D51AD9D13C

QUESTION 5

Which two are types of style patterns available while creating integration with Oracle Integration Cloud (OIC)?
A. Notification

B. Metadata

C. Orchestration

D. Map Data

Correct Answer: CD

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creatingintegrations.htmi#GUID-
FC613C76-F566-4673-BC10-CC893958C8D6

QUESTION 6

What fields are used to define static or dynamic list of values in web forms in Process Cloud Service?
A. Links, Email and Message Fields

B. Checklists, Radio button or Select controls

C. Date, Time and Number Fields

D. Text Input and Area Fields

Correct Answer: B
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Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-
advancedcontrols.html#GUID-0A790FE5-AF8A-496D-A7C5-6C4203915B7C

QUESTION 7

Which three background colors are displayed for autocomplete in Process Cloud Service?
A. Blue for complex binding names (their children may contain valid binding names)

B. Red for invalid binding names

C. Green for valid binding names

D. Orange for unmatched binding names

Correct Answer: ABC

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/binding-form-datacontrols.html#GUID-
CECD2F13-1E1A-457D-8BC8-8D605EEB213B

QUESTION 8

Which three Service-Oriented Architecture Cloud Service (SOA CS) Components can route a message to an end

point?

A. Oracle Mediator

B. Oracle Business Rules

C. Oracle BPEL Process Manager
D. Oracle Service Bus

Correct Answer: ABC

QUESTION 9

Which is NOT a key advantage of using Oracle Integration Cloud (OIC)?
A. Public/Private Cloud Portability

B. choice of IDE for development

C. Auto Association of Oracle SaaS Applications

D. prebuilt integrations

E. recommendations

Correct Answer: B
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Reference: http://www.oracle.com/us/solutions/cloud/cloud-integration-wp-1873149.pdf

QUESTION 10

Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management
Service, what grants should be assigned to that user?

A. Node Service Account
B. Deploy API

C. View all Details

D. Deploy to Gateway
Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/install-
gatewaynode.html#GUID-6848A2B0-03D0-435B-B867-5D9FD80E595B

QUESTION 11

Which Process type should you choose to model non-sequential process type in Oracle Integration Cloud (OIC)?
A. Adaptive Case Management process

B. Structured Process

C. Dynamic process

D. Unstructured process

Correct Answer: C

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/using-processesoracle-integration-
cloud.pdf page 6-34

QUESTION 12

What are two key benefits of Oracle Web Service Manager (OWSM) in the management and security of Web services
across the organization?

A. Security is controlled by the developer of the service and this gives greater control to the development of the service.
B. OAuth services are used for REST based services.

C. OWSM provide a framework that is externalized and declarative outside of the web service implementation.

D. Developers no longer need to understand security specifications and security implementation details.

Correct Answer: CD
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Reference: https://docs.oracle.com/middleware/1212/owsm/OWSMC/owsm-intro.htm#OWSMC4166

QUESTION 13

You receive an exception message: "java.security.cert.CertPathValidatorException: Path does not chain with any of the
trust anchors”

What needs to be verified when this exception message is received?

A. Run this command to verify code.keystore has system certificates: keytool ?ist ?toretype JKS ?eystore
config\code.keystore

B. Run this command to verify code.truststore has system certificates: keytool ?ist ?toretype JKS ?eystore
config\code.truststore

C. Run this command to verify cacerts has system certificates: keytool ?ist ?torertype JKS ?eystore security\cacerts

D. Run this command to verify code.certstore has system certificates: keytool ?ist ?toretype JKS ?eystore
config\code.certstore

Correct Answer: A

QUESTION 14
Which three are characteristics of Device Virtualization?
A. Oracle Internet of Things (IoT) Cloud Service does not support Device Virtualization.

B. You can monitor each device endpoint\\'s health, performance, and location via the client software library API, or with
REST calls made to those devices.

C. You can collect data from your devices using APIs delivered with Oracle Internet of Things (loT) Cloud Service Client
Software Libraries or Oracle 10T Cloud Service Gateway.

D. The APIs provided enable you to send telemetry messages and device data from your devices to Oracle Internet of
Things (loT) Cloud Service, control your devices, and deploy applications to your gateway devices.

E. Devices used are not real. They are virtual devices and linked with Oracle Internet of Things (IoT) CS.
Correct Answer: BCD

Reference: http://www.otechtalks.tv/an-introduction-to-oracle-internet-of-things/

QUESTION 15
Which three are valid Oracle Integration Cloud (OIC) Roles?
A. ServiceDeployer

B. Servicelmplementor
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C. ServiceUser
D. ServiceAdministrator
Correct Answer: ACD

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud/integration-cloud-user/oracleintegration-cloud-roles-
and-privileges.html#GUID-44661068-C31A-4AB5-BC24-B4B90F951A34
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